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MAT 212, Quiz #8, Summer 2016 Name {Q:s \(

Instructions: Show all w:
credit. Some questions

ork. Answers without work required to obtain the solution will not receive full
may contain multiple parts: be sure to answer all of them. Give exact answers

unless specifically asked to estimate.

1. Use Euler's met
that ¥,41 = ¥y

hod to estimate the solutionto y’ = tIny,y(1) = 2att = 2,in 4 steps. Recall
+ Atf(tn, y). Carry at least 6 decimal places through your calculation.
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2. Find the solution to the system {

—

y(a) ~ W8%7F

X1+x, =2 i
%y + 2x, = 1 PY row-reducing by hand.
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